Operations per second over time
30000 - | | | | | | | | 1

ead Checkpoint
25000 —~
Write Checkpoint
2 20000 -
IS}
< 15000
S
o 10000 —~
5000 |- —~
O ] ] ] ] ] ] J
0 100 200 300 400 500 600 700 800 900
Time (seconds)
Operations per second over time
30000 | | | | | | | | 1
55000 Read No Checkpoint
Write No Checkpoint
g 20000
= el | T el | "’“ 1 w n
g 15000 M ‘ﬂﬂ w Wl , "' ¥ 1 l\‘ 'w HNWIH A “* \ | \ k. | . ~
i | Il ‘ ‘
S 10000 | | |
5000 -
O ] ] ] ] ] ] ] ] J

0 100 200 300 400 500 600 700 800 900

Time (seconds)



